20255 =7)—4 60% 288 BHE-#HR

20254 78 180 HIEL®R ver.4
& | 9:00~17:00 109:30 210:25 ®11:20 @12:15 ©13:10 ©14:05 # =
48 5H(L) | r—>x : F360| iR60 : #0B60| FRII60 : FAK | HRET60 : AV | TEF60 - BAE60| £EF60 : LEE60
1 PIRHG  ®® 1 : O o : 1 0O : O |@%: #0 | 0 : 3 O : 3
...... FPMR60  |#wy|  HiRe0 | kIR | HmEe0 | FPMR | &EFe0 | BAE60
BPF—L. |BP 1#0B60 F 360 HWaEv jilib LE £ %760
i | 9:00~17:00 (109:20 @10:15 ®11:10 @12:05 ®)13:00 ©13:55 % =
4H12A(L) |x# ©hiR60 : ZEE560 [ BAE60 . FAKR | #53660 : LEE60 | F—5R : HZAY | LvhaE : TRk | FH60 : HEI60
2 |BEAIER) %8 o . 2 2 : 0 0 0 2 : 0 0O : 3 1 1
........ BAZE60 | Mk | . FHeo | WEAR | ##®eo | Ffe0 | TRk
BPF—/, |BP B £ 60 f1iR60 r—3X £ E60 #RE60 LhasE
il e D11:20 @12:15 ®13:10 @14:05 % =
48198(X) |xf#| Z=EF60 : #0B60| vk : FK*F60| FAK : F—SX[LvhaE : HE60
3 [BEICER) [#8] 1 - 1 O : 8 1 : 0 1 1
INEJR6O(180) &' | PR | fgoBeo | WwhsE | RTAR
BPF—4I |BP PEVSS £ %760 #EE60 AR
i | 7:00~17:00 (108:20 29:15 @10:10 @11:05 ©12:00 ©12:55 % =
4826 (1) |x# iR60 © FAK | 4360 : AT | F—52 : Lvhax | BH60 : K60 | T2k : BIE60 | EEH60 : #HEI60 ﬁg;é;ﬁ
4 | EEATEZ [#2 1 1 2 : 0 1 2 1 1 1 1 1 1 %
........ fadge0  (mw| o MZEE | MK | FEBe | \LWhEE | #Eme0 | BIEe0 | BHRE
BPF—4 [P #5460 §iR60 360 2 E60 YIRE HiEs
1| 9:00~13:00 (109:00 @9:55 310:50 @11:45 # &
58108(1) |xt| Lvbax : BHEG0 | #5#560 : TR~ | ZEE60 : F~TFI60 [HE0B60 : HH60
5| BEATIYZ |82 1 : 0 O : O 1 : 0 3 : 0
........ f&#Ee0 By oz | BAE60 | HOB60 | BEEEO |
BPF—.L |BP #3560 LWha& F 60 PR
i | 9:00~17:00 (109:20 @10:15 @11:10 @12:00 (©)12:55 ®13:50 % =
5H24H (1) %tk =B560 : #EG60 | 3760 : BHEG0| ZEE60 : HTRM | F—TR : ¥EOB | #3660 : £F560 | A< : FTFI60
6 CEEICRR) [#8 o : 1 1 1 1 1 0O : o 2 : o0 0O : O
........ BAZ60 &  kieo | . MEmEeo | h=3R | ZEe0 | WEY | %E60
BPF—/1 |BP BAE60 5760 1#;E0B PRV IS I~ F160 #4860
il H-£i8 D13:10 14:05 315:00 @15:55 % =
58318(1) |xmiimoBe0 . BiS60| Ak . =F760| K60 - 60| HAS IR
7| #EBEALS &2 : : EMRIEE
(FE60(150) (&4 =Er60 1820860 AR e I N
BPF—. |[BP il Bi 260 fEae SE60
& | 7:00~17:00 (108:20 29:15 ®10:10 @11:05 ©12:00 ®12:55 % =
68 T7H(ZL) x| BAE60 : #AEI60 |#0B60 : #E#E60| BAK : £¥760 [ FRII60 : FR60| FM60 - HTXh| BT : TEE60
8 | HBMAIYZ [#8] o : o0 1 : 2 0O : O 0O : 1 O : O o : 4
........ 60 |mw|  wwe0 | mAEe0 | Reo | AR | B | seo |l
BPF—., |BP BIiE #AmI60 TR £ %760 AR Ak FE
i | 9:00~17:00 (109:40 @210:35 ®11:30 @12:20 ®13:15 ®14:10 % =
6 A148(L) |xfe| dR60 : Lvhax| FE60 : BAIKR | F—32R : #i#60 [ £EF60 : FRFI60| AT : £¥760
9 HEE #® 1 : o0 2 : 0 o : 2 0O : 4 1 : 0
L BEE6O  ma| ZE60 ... Whaes [ RBR LV BHOO |
BPF—L. |BP Jilipa f1iR60 £ %60 F—3X TR
il B-2i5 (109:20 @10:15 @11:10 @12:00 (5)12:55 ®13:50 % =
621 A(L) [nt| b : #E3660 [ FEF60 : YTk | AT : K60 | BHE60 : ZEE60| HIR60 : j£E760 | HFFle0 : k—TR|EREAZEH
10 KBAE [#8 o0 : 0 2 : 0 1 : 0 o : 1 5 : 0 0 : 0O |=EmeEs
........ ZE60 By FEFe0 | . fEEe0 | BEEe0 | . RJ60 | W60 | EEEO | smms
BPF—41 |BP IRk LhaE BAE60 HWAE F—3R F1iR60 1%BF1 FA
i B-£15 D11:20 @12:15 @13:10 @14:05 % =
7H 58(L) |su| BAK . Ht60 | thiR60 : #AY | $EE60 : #50B60[ BIE60 : 27560
1| BEINTHR %8 o0 : 1 o : 1 o : 1 5 : 0
INEJR60(180) B8] FIR60 | LY S B BAZ60 | HEOBBO |
BPF—.,. |BP A F 60 X £ EE60
il H-=215 D15:50 @16:45 % =
7H 6H(B) [x#| vTxk : #EE60 | Lvhax : FRT60
12 BAXRK |#8 o0 : 2 0o : 1
CFIF60(1ED) (B WhsE | o N N S SN S
BPF—., |BP FF60 HEEE60




20255 =7)—4 60% 288 BHE-#HR

20254 7H 18H El%_i&“i ver.4
i | 9:00~17:00 (109:20 @10:15 ®11:10 @®12:00 ®12:55 ®13:50 % =
TH128(X) [t #3860 - FHF160 [ E£EF60 : FTEF60 | Lvhax : #OB60| HRE60 : F—F | FH60 : LEE60 | f1iR60 : HITRE
13| K#BE2E |#2 1 : 1 [ o : 1 | o : 2 [ 1 : o | 1 : 1 | 2 : o0
........ ZE60 |y kTeO | FWMR | MEAEE60 | \hEE | wzRR | RHK60 | e
BPF—L |BP £%60 #3860 r—3R b f1;R60 ZE 1%B 51 F
#i | 9:00~17:00 (109:20 @10:15 ®@11:10 @12:00 ®)12:55 ®13:50 % =
9A 6H(L) x| iR60 : #:i4E60| BAE60 : h—52 | FAKR : ##ZA< [ FEF60 : L 60| #FI60 : #EOB60| LvhaE : ZFF60
14| EGIILER g2 : : : : : :
........ BAZ60 |®|  h—3A | FUReo | BEe0 |  HZEHE | &6 |  4H0B60
BPF—., |BP B 260 #4860 £ %760 Bk LhEE #EEE60
il H-£&12 D12:50 @213:45 ®)14:40 @15:35 ®16:30 ®17:25 % =
9A13H(L) [xt HAEE60 : FTR | J£EF60 : H0B60 | #EHE60 : F 60| HIR60 1 F—5R
15 e e : : 5/31IBIES
...... HPAR60 @ V@RI | ESRIA. | kEe0 | FPMR | kIR | #Ee0  [iEe
BPF—/,. |BP 1#0B60 #AFE60 $iR60 %360
‘Ri5 @16:50 @17:45 & =
9A15H(A) [x# BAE - Yxab| B UDSE| e 5/31F3ES)
16 HAN) =8 e ST N N S N 1Ha
5 B Y-S (TN N S I F R S
BPF—L |BP LWhaE IRk
i} H-£18 (109:20 ©10:15 @11:10 @12:00 (5)12:55 ©13:50 % =
9H278(t) |xt#|iE0B60 : BAE60| AR : Z=FH60
17 HEKHG  |#®E : : : : : : 5/31)BIE S
.......... AEB |Bw  FFeo | #oseo | o0 b0 00
BPF—.. |BP i:pS B3 260 0 0 0 0
il H-&15 (109:20 @10:15 @11:10 @12:00 (®)12:55 ®13:50 " =
B B( ) |x| 28560 - $20B60| #E60 - F7B60| BiR60 b—52] HBR  Lvba=
15 JIVK &g . . :
(FF—L) |80 HE60 L EEre0 JBE L s N N
BPF—L [P | 5760 __ t#oBeO _ Lyvbas __ tHiRe0
& =y 109:20 @10:15 ®11:10 @12:00 (1255 ®13:50 =
A H(X) |xmlsmoBeo : BHE60| BAK : ZEP60| FEHE60  F 60| BT | 9IRE : :
7 TSR e : : : : 5/31IBE 5
(BETL) |0 A fEoB60 1Ak JEae0 LU [
BPF—L4 [P B & B 260 BaE HH60 0 0
2025%%E Y-7Hvh—U-—JitE 2HBER
s700 | 8 | 760 | 5 o0 |12 3060{ oeso AE B |5 B|8]% ealxaexlEs |
x 300 - | ' WA 2604 h8—5357 | o] 4| o 4] 10| 3| 7| 16| 2
00@ * J0A0 BABVR4-X 8] 3] 4| 1| 3| 1] -8 9 9
- loao| HEFrBFCHTR0 | 9| 3) 2 4| 9| 3| 613 5
100 FCHiRY =760 8l 4] 3| 1[ 10 5] 5 13] 6
F 7B IAM0 9) 1) 4| 4 5| 1] -6 713
HiEoB/ £ 14 1] 2 9| 3 6 14] 4
$BH57Y =760 9] 5| 1] 3| 13| 3| 10] 18] 1
BEH5760 8| 3| 2| 3] 12| 4| 8|12 1
E5Y-7FC60 8] 3] 3| 2| 7 10| -3 11] 8
LWhEE60 8l 2| 4 2| 4] of -5 8|12
P=5R6549h=937 | 8| 2] 4| 2| 4 6| -2 8] 10
$1¥=7493760 9l 1 3| 5 5| 9f -4 8|11
HARFC 7 10313 2| 6| -4 6 14
#595760 8 o] 6| 2| 1] 18]-17] 2| 15
§#60FC 8l 4 o 4 9 2 7/16] 3
30O RBHT, a1 61]40/ 40| 42[ 103 103] 0




